
                                     Division   

Worksheet-3 

1. Fill in the gaps: 

(i) 57 ÷ 1 = ______ . 

 

(ii) 329 ÷ 1 = ______ . 

 

(iii) 165 ÷ 165 = ______ . 

 

(iv) 928 ÷ ______ = 1. 

 

(v) 7314 ÷ ______ = 7314. 

 

(v) ______ ÷ 152 = 0. 

2. Find the quotient and the remainder without dividing the 

dividend number 

(i) 4050 ÷ 100 

(ii) 4503 ÷ 100 

(iii) 3040 ÷ 1000 

(iv) 9567÷ 1000 

(v) 15724 ÷ 1000 

3. Find the estimated quotient for the following divisions: 

  1. 86 ÷ 27 
 
  2. 82 ÷ 18 
 
  3. 88 ÷ 29 
 
  4. 195 ÷ 24 
 
  5. 255 ÷ 25 

4.Find the quotient: 

© PRAADIS

EDUCATIO
N

DO N
OT C

OPY



1. 60 ÷ 20 = ______ . 

 

2. 100 ÷ 20 = ______ . 

 

3. 180 ÷ 30 = ______ . 

 

4. 280 ÷ 70 =__-------- 

 

5. 300 ÷ 60 = ______ . 
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